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Key Ideas

* The degree of all quadratic functions is 2.
e The standard form of a quadratic function is

y=ax +bx+c

where a # 0.
* The graph of any quadratic functio with a single vertical

line of symmetry.

Need to Know
* A quadratic function that is Wmi%’rg'n standard form,
Wir

y=axd +b —+a M&H characteristics:
- The'highest or lowest pdjnt on the graph of the quadratic function lies
on its vertical Tine of symmetry.

- If ais positive, the parabola opens up. If a is negative, the parabola

opens down.
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- Changing the value of b changes the location of tie pasabola’s line of
symmetry. ( |o¢ateon 6 bt

- The constant term, c, is the value of the parabola’s y-intercept.
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URTHER Your Understanding

Q 1. Which graphs appear to represent quadratic relations? Exp].ain.
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. Which of the following relations are quadratic? Explain.

d]nyz—Sx—fJ
e) _;'=‘ix'a+xl—x
i y=xx+1)2=7

a}]=2x—?
b) y= 2x(x + 3)
c) yz{x+4)2+l

3. State the y-intercept for cach quadratic relation in question 2.

. Explain why the condition @ # 0 must be stated when defining the

standard farm,)' =at + b+ ¢

. Each of the following quadraric functions can be represented by a

parabola. Does the parabola open up or down? Explain how you know.
a) y=xr—4 € y=9—x+ 3

2
b) y= =2 + 6x d]_;'=—§.xz—6x+l
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